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F—BER - BUEEE RAERESE Numerical Estimation and
Significant Figures &%
— . B Y EEE AEFTRAYAL . Round off each of the following numbers to the specified places.
(a) 6453723 (Ffii Thousands)
(b) 765 432.109 (F-{ir Thousands)
(C) 23.9456 (E53fir Hundredths)
(d) 0.072 699999 (Ej53fir Hundredths)
(e) 687123 (ZfrAXE T 3 significant figures)
(f) 0.000 026 132 (— A% 2 significant figures)

(g) 10.9876 (=ArA%ES 3 significant figures)

— . SERC RIS RE - Complete the following questions.

(a) 7RF0.0387 x 2.142 VAESR e A B EFFTAYAIT -
Round up the result of 0.0387 x 2.142 to the nearest tens.
(b) JKF 0.0387 x 2.142 FYGESR & A E = AEE -
Round down the result of 0.0387 x 2.142 to 3 significant figures.

(c) 7RF 0.0387 x 2.142 HYEESRFR A VU1 A BT
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Round off the result of 0.0387 x 2.142 to 4 significant figures.
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= . 5B T HI%EE - Complete the following questions.

I () S ASEERFITA 10 0 fEHEEEC 174 +207 + 122+ 196 HUEER
Estimate the result of 174 + 207 + 122 + 196 by rounding off each number to the nearest 10.
(b) 13 {ERICHIAHE R Ky 11.64 ¢  KE(EMIHVER - MR =T AREHF -
The total weight of 13 paper clips is 11.64 g. Find the weight of a paper clip, correct to 3
significant figures.

2. FEAAE s TMBRTHUT 7257 ~ 9853 ~ 7597 ~ 32 57 L 3747
A student gets 72 marks, 98 marks, 75 marks, 32 marks and 37 marks in 5 tests.
(a) R AZNMERG T ZRAETHY 10 77 > (HEAET -
By rounding up the test scores to the nearest 10 marks, estimate the total test score.
(b) E—REBERVHHS /IR 350 77 s SRR R LSRRI BT - SRR ETE
FH AR 7 SRR R A 2 -
If the total test score of a student is less than 350 marks, the student has to take a

supplementary lesson for revision. Does the student need to take the supplementary lesson?
Explain your answer.
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